Bl BHKEREBRNTXIBEL Y — (RHETAH)
20244018018
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h J MJ hPa % % %
1:00[ LA 451 967 5.1 10.1 10.3 10 2.9 61.1 0 0 0 0 0 0| 102038 61.7 60.6 725
2:.00(FILFE 42|FJLA 8.7|AJLE 5.2 10 10.2 9.9 2.3 58.8 0 0 0 0 0 0 1022 61.1 58.8 72.3
3:.00[JL 2.8[dL T 7.5|Fa 4L 43 9.2 10 9.2 2.2 615 0 0 0 0 0 0| 102238 62.5 58.5 721
4:00{FHIL A 3[dLdE 6.5|FadL 7 3.4 8.6 9.2 85 1.6 61.6 0 0 0 0 0 0] 10236 62.8 61.1 71.9
5:00|F L7 2.7\ 4L 6.3|Fa L7 3.4 8.4 8.7 8.4 15 61.8 0 0 0 0 0 0] 10245 62.2 60.7 71.8
6:00|F L7 31| dL 5.9[FadL T 35 8.1 8.5 8 1.5 63.1 0 0 0 0 0 0] 10255 63.1 61.2 71.7
7:00[F L7 2.4|7adL 6|7t 3.3 7 8.2 7 1.2 66.5 0 0 0 0 0 0] 10263 66.6 62.6 71.6
8:00| A LA 3[@EIA 5.4|FadL T 3 74 74 6.9 1.2 64.8 0 0 0 0 0.07 0.07]  1027.1 67.1 64.8 715
9:00({JL 78 38[dtF 75[dtF 42 9.4 9.4 74 1.6 58.4 0 0 1 1 0.76 0.82] 10274 65 58.4 71.3
10:00[ L7 3.9[1LF 9.2[1L 438 10.7 10.8 9.4 0.9 50.7 0 0 1 2 1.32 2.14] 10279 58.4 50.7 71
11:00[Jt 78 37| dt 76[dtF 44 11.4 11.5 10.6 0.9 48.6 0 0 0.9 2.9 1.62 3.76] 10275 50.7 485 70.7
12:00[JLJEFE 35[dtItA 8.4[1titE 47 10.9 11.8 10.9 0.5 487 0 0 0.5 3.4 1.42 5.18] 10271 49.3 476 70.4
13:00[dt 291t 713t 3.9 10.9 11.2 10.6 1.1 50.9 0 0 0 34 0.72 5.9 1027 50.9 483 70.1
14:00[JLILE 34[3t 8[dt 3.7 10.2 11.2 10.2 1.7 55.5 0 0 0 35 0.67 6.57] 1027.1 55.9 475 69.9
15:00[JL L 29[dLdLE 6[dtdbE 3.4 10.2 10.3 10.1 2.1 57.2 0 0 0 35 0.47 7.04]  1027.4 57.6 55.2 69.7
16:00[JL L7 253t 5/3t 2.9 10.2 105 10.1 1.2 53.6 0 0 0.1 35 0.32 7.36] 1027.6 57.2 53.4 69.5
17:00[3t 213t 581t 3.1 9.6 10.2 9.6 1 54.9 0 0 0 35 0.05 741 1027.9 54.9 529 69.3
18:00[Jt 1.6[dLItFE 34[3t 2.2 94 9.6 9.2 0.5 54 0 0 0 35 0 741 10284 57.6 54 69.1
19:00[JLE 1]k 3.3t 1.6 9 9.4 9 0.3 54.4 0 0 0 35 0 7.41] 10285 54.7 53.6 68.9
20:00| & 0.2|#EFIFE 1.6[JLE 1 7.7 9 7.7 1.9 66.7 0 0 0 35 0 741 10287 66.7 54.4 68.9
21:00 | BRI 0.3|F 1.5|FAF R 0.9 75 77 7.3 1.1 64.2 0 0 0 35 0 7.41 1029 68.4 63.7 68.8
22:00[ & 2.1|& 35|® 2.1 7.2 7.7 7.2 -0.8 57 0 0 0 35 0 7.41] 10288 66.4 56.3 68.6
23:00| R PESES KEIES 2.1 47 7.2 47 -05 69.2 0 0 0 35 0 7.41] 10286 69.2 57 68.6
24:00:00[#E /& DE:3E DE:3E 0 3.9 438 34 0.2 77 0 0 0 35 0 7.41] 10284 79 69.2 68.7
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE EHiRE
m/s m/s °C °C % mm h MJ MJ hPa %
Fy 2.5 8.8 1.2 59.2 1026.7 70.4
xE B[] 52|t A 9.6| AL A 11.8 3.2 79 1029 72.7
HCHF 1:15 0:07 11:34 0:01 23:47 21:45 0:01
=& 3.4 -1 475 1019.3 68.4
EE# 23:43 22:21 13:19 0:02 22:18
0 35 35 7.42 7.41
J'Lr‘ifé (%)
[JedtsR | Jes [ R | 3 | R@ssR | mask | pApmee | @5 | pApsPd | paPd | papmed | pa | gadeew | dJera | ek | db | R SGE |
BAEED1—) 9] 1] 0] 3.3 1.2] 1.7] 1.3] 0.8] 0.7] 0.2] 2.9] 29.5] 10.6] 11.9] 16] 9.9] 0]




BRI = BHKERERITXEL 2— (BHETEH)

20244018028
EES
EHRE | YRR sxmmean| BXEMAE s ronan BxToaE| 5B |[ReSE| REJEB|EARE(AMEE|RERE| WE |BEAE| BE (BEBS B |BMKE|sxeses| et
m/s m/s m/s °C °C °C °C % mm mm h h MJ MJ hPa % %
1:00[ & B[ 1.6|7AFIPE 0.9 2.9 49 2.9 -0.7 77.3 0 0 0 0 0 0| 10284 775 735
PRI 0.2|7 1.6 0.3 3.7 4 2.7 0 76.8 0 0 0 0 0 0] 10282 82.8 76.7
3:00 £ & [ E[EAi] AEE#] 05 1.8 3.7 1.7 -0.6 84.1 0 0 0 0 0 0| 102738 84.7 76.8
400 £, N N 0 1.7 2.2 1.1 -0.1 88.3 0 0 0 0 0 0] 10272 88.3 83.6
5:00 | ZE & NE:E NE:E 0 0.7 1.7 0.5 -0.9 89.5 0 0 0 0 0 0| 1026.7 89.7 86.5
6:00 & N N 0 0.5 1.1 0.2 -0.9 90.7 0 0 0 0 0 0] 102638 90.9 89
7:00 | & NE:TE NETE 0 0 1.1 —0.1 -15 89.9 0 0 0 0 0 0] 102638 91.6 89.1
8:00 | FREIER 04| 1.9[FE®R 1 0.8 0.9 0 -0.6 90.9 0 0 0 0 0.07 0.07] 10269 92.1 89.9
9:00 | £& & [ESES 1.2|RER 0.5 46 4.6 0.8 1.3 79.4 0 0 1 1 0.79 0.86] 1026.9 91.3 787
10:00| E R 03|FE 1.5| R 0.4 6.7 6.8 44 14 68.9 0 0 1 2 1.27 213]  1026.7 79.4 68.9
11:00| R NEEES PRALTE 1.1 9.9 10.1 6.8 2.1 58.4 0 0 1 3 173 3.86] 1025.6 68.9 58
12:00[ L 14[ERILE REAED 1.6 11.3 11.4 9.5 1.4 50.7 0 0 1 4 1.97 5.83]  1024.1 58.6 50.7
13:00[dLdbE 1.9[dLE INIEET 2.3 121 12.3 11.2 1.6 48.6 0 0 1 5 1.97 781 10232 51.2 48.6
14:.00[ L 23[FEILE 57|/ 2.9 12 12.2 11.6 2.5 52.3 0 0 1 6 1.66 9.47[  1022.8 52.9 485
15:00[JL PAES 7.2|dLE 2.8 1.7 12.5 1.7 2.3 52.4 0 0 1 7 1.3 10.76]  1022.6 52.6 50.6
16:00| REF R 18[E|ILE 47[FEJE 2.9 10.9 11.8 10.9 2.5 56.1 0 0 1 8 0.71 11.48]  1022.7 56.1 524
17:00[FF 0.3|FRER AEED 1.8 7.8 10.9 7.8 32 72.9 0 0 0.2 8.2 0.1 11.58 1023 72.9 56
18:00[ & & 0|m 23|E 1.4 7.2 7.9 6.7 3 74.9 0 0 0 8.2 0 11.58]  1023.4 77.8 729
19:00[£E & O[FIE 1.5 5 & 0.2 6.5 74 6.3 27 76.9 0 0 0 8.2 0 11.58] 1023.4 783 74.2
20:00| & MBS 1[ER 0 4.6 6.6 43 2.2 84.8 0 0 0 8.2 0 11.58] 10237 84.8 76.9
21:00[£E & O|FImIFE 1.2| 5 & 0.1 42 5 4 2 86.1 0 0 0 8.2 0 11.58] 10233 87.3 84.8
22:00| & o[JLdt 1.3 &R 0.2 4.1 46 3.3 2.3 87.9 0 0 0 8.2 0 11.58]  1023.1 89.5 85.4
23:00| R NEES 09| ER 0.1 2.9 4.1 2.5 15 90.4 0 0 0 8.2 0 11.58]  1022.8 90.4 86.8
24:00:00 [ FREIER 04|KER 3[4t 1.2 3.2 3.2 2.2 1.4 88 0 0 0 8.2 0 11.58] 10221 90.8 87.3
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE
m/s m/s °C °C % mm h h MJ MJ hPa
Fy 0.5 5.5 1.2 75.7 1024.9
xE AR 29|& 7.2|HILE 12.5 3.6 92.1 1028.4
HCHF 15:22 14:45 14:28 17:54 7:47 1:31
=& -0.1 -1.7 48.5 1022.1
EE# 6:59 6:59 13:04 0:00
0 8.2 8.2 11.57 11.58
J'Lr‘ifé (%)

EEEE :ltﬁ [ kT | = | Hmsm | R | marEsR | | e | mpa | papaps | P8 | padrps | dJees | dedkd® | b [ R O[ ORA[ |
REES 1| 0.6] 32| 6.4] 3] 3.7] 36] 2.2] 25| 0.6] 0.7] 1] 0.6] 02] 1] 0.8 03] 64.4] 0]




BRI = BHKERERITXEL 2— (BHETEH)

2024401 0380
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h h MJ MJ hPa % % %
[ENETED 0.3[dt 2.2|FaFa e 1.2 27 33 2.3 1.1 89.3 0 0 0 0 0 0| 102138 89.3 86.5 71
2:00| FaEE PR 0.4|dtE 23|FILE 1.4 26 3.2 1.9 0.9 88.8 0 0 0 0 0 0 1021 90.5 84.5 71.3
3:.00(/ 0.8[& 1.9[dbE 1.4 22 2.9 2 05 88.7 0 0 0 0 0 0] 10209 90.6 87.2 71.6
400 £, o[@ 1.2|F®R 0.8 26 2.9 22 0.8 88.4 0 0 0 0 0 0] 10208 89.9 87.9 718
5:00 | ZE & 0.2|FEEET 1.2|FaFIPe 0.6 24 2.6 1.7 1.2 91.8 0 0 0 0 0 0] 10206 92.1 88.2 721
6:00 & o[FadL 093t 0.3 1.6 2.5 1.4 0.4 9138 0 0 0 0 0 0] 10207 92.2 90 724
7:00|FE P 04|FEER 1.3[7 0.7 2.1 2.5 1.6 0.7 90.7 0 0 0 0 0 0] 10207 92.6 90.5 72.7
8:00| A S 1.2[7 05 26 2.7 1.7 1.5 92.4 0 0 0 0 0.08 0.08] 10202 924 90.6 73
9:00| AL 7 1.3[dLE 24| AL 1.5 5.1 5.3 26 23 82.1 0 0 0 0 0.32 0.41] 101938 923 815 73.1
10:00[ & & 0.1 |FARER 1478 1.3 6.9 7 5 3.1 76.7 0 0 0 0 0.66 1.06]  1019.1 83 75.8 732
11:00[ IR 1.2|FIRIR ARES 1.2 8.9 8.9 6.8 32 67.6 0 0 0.3 0.3 0.99 2.05 1018 76.6 67.6 731
12:00[3t 0.8[dtJLE 27[dtdt=E 1.9 10.8 10.9 8.9 3.2 59.4 0 0 0.1 0.4 0.88 2.94] 10169 67.6 59.4 72.9
13:00[db & 1.4[3b 32[dt=E 1.5 121 12.1 10.8 3.7 56.4 0 0 0.2 0.6 0.92 385 10159 60.6 56.1 727
14:00[FJLE 1.6[FILE 35|FILE 2 1.7 12.1 115 3.8 58.5 0 0 0 0.6 0.69 454 10153 58.5 56.2 725
15:00[ HE R [RIEEET 28|%E 2 11.4 12 11.4 48 64 0 0 0 0.6 0.5 5.04] 10153 64 57.4 724
16:00[ & & 0.1 3[E| 1.8 10.8 115 10.7 5.8 71.1 0 0 0 0.6 0.22 5.26] 10155 71.8 63.1 724
17:00[ & & o|FEEma 1.2|FaEI P 0.8 9.4 10.8 9.4 7 85.2 0 0 0 0.6 0.02 5.28 1016 85.2 71 72.6
18:00[ & & NE:3E NE:3E 0 8.8 9.4 8.7 6.6 86.2 0 0 0 0.6 0 5.28]  1016.2 87.7 85.2 728
19:00[£E & 0.2|FtFE 2.8|FLE 1.5 8.2 9.2 8.1 6.2 87.3 0 0 0 0.6 0 528 101538 87.3 815 73
20:00 | & &l NETED 1.5\ 0.5 8.3 8.4 8 6.3 87.2 0 0 0 0.6 0 528 1015.7 875 85.9 73.2
21:00[JLF 0.9|F 5.3/t A 2.6 9.1 9.8 8.2 5.2 76.7 0 0 0 0.6 0 5.28] 10158 87.2 735 733
22:00|FadL T 2.8|FdL T 8.1|F 41 9.9 10.2 8.2 43 68.2 0 0 0 0.6 0 528 1015.9 82.4 66.8 732
23:00(78 2.6/t 78|t A 39 8.4 10 8.3 5 79.3 0 0 0 0.6 0 528 10165 79.9 68.2 733
24:00:00[ 7§ 3.8[7 6.3]78 3.9 8 8.4 78 3.9 75.3 0 0 0 0.6 0 528  1016.3 82 75.3 733
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE EHiRE
m/s m/s °C °C % mm h h MJ MJ hPa %
Fy 0.9 6.9 3.4 79.3 1017.9 72.6
xE B[] 41[FdLdE 8.1|F 12.1 7.3 92.6 1022.3 734
HCHF 21:45 21:25 13:08 16:38 6:20 0:39 23:48
=& 1.4 0 56.1 1015 70.7
EE# 5:48 5:37 12:59 14:24 0:01
0 0.6 0.6 5.28 5.28
J'Lr‘ifé (%)
[ JedesE | 1[:? [ kT | = | Hmsm | R | marEsR | | e | mpa | papaps | P8 | padrps | dJees | dedkd® | b [ R O[ ORA[ |
BAEES 1| 3.9] 42| 9.9] 5.6] 3.3] 2.7] 2.4 1.6] 1.3] 3.8] 4] 8.5] 7.2] 3.8] 15] 2.4 33.9] 0]




Bl BHKEREBRNTXIBEL Y — (RHETAH)
2024401 5048
EES
4 L A | T 1 Rl R | mxmmesme | BAmMERE | Bxvoman| RATHEE AxEEERRE RE |HRAR| AR MR E | exmsias| 8vextee| EShEE
_ m/s m/s m/s % mm h hPa % % %
1:00|Fa L7 31|@ 10.1]78 79 0 0 0 0 1016.5 725 734
2:00(#FHILFE 42|F 9[# 73 0 0 0 0 1016.7 68.8 734
3:00|#HIL A 441 FE 8.5|A L 69.6 0 0 0 0 1017.3 69.6 733
4:00{FHIL A AR 10.3[FadL T 75.8 0 0 0 0 1017.5 69.6 733
5:00| A& L7 5.4|FJL A 12.4[FIL A 66.3 0 0 0 0 1018.2 66.3 732
6:00{FJL 7 43 ILd 11.8]7 62 0 0 0 0 1018.9 61.3 73
7:00| 7 421 11.2]7 60.3 0 0 0 0 1020.2 58.6 72.8
8:00| A LA 45 JLdE 82|F LA 60.3 0 0 0 0 1021.5 59.3 72.6
9:00( 4L 7 3.3|FAItA 8.8|F LA 56.5 0 0 0.7 0.8 10225 56.5 724
10:00[ AL FE 43|74 95|FILE 50.3 0 0 0.9 1.7 1022.8 50.3 72.1
11:00[FJLF 48(FIL 9.4|FILE 475 0 0 1 27 10225 472 71.7
12:00[J L7 4.2|#G4L G 8.7|#G 4L 426 0 0 0.9 3.6 1022.1 42 71.3
13:00[dL b7 3.3[dtdtFE 7.1[deded 43.6 0 0 0.4 4 1022.1 426 70.9
14:00[JL L7 34[dtA 6.7[dtIt A 436 0 0 0.6 47 1022.2 40.7 70.5
15:00[ AL F 35|FItA I 43.9 0 0 0.6 5.3 10225 425 70.1
16:00[ 7 R EE [ 7.9|Fa 4L FH 46.1 0 0 0.7 6 1023.3 43 69.7
17:00| 78 1.8|Aa i 6.1|7 52.9 0 0 0.2 6.2 1024.2 46.1 69.5
18:00] 78 0.7|7 2.3|F 67.1 0 0 0 6.2 1024.8 529 69.5
19:00(Fg 05|7E@I 7 AEED 72.8 0 0 0 6.2 1025.4 67.1 69.5
20:00| R 0.1 M= 1.4[@ 76.2 0 0 0 6.2 1025.6 71.2 69.6
21:00 [ & & 02|FHILE 1.3[F 79.9 0 0 0 6.2 1025.4 76.2 69.8
22:00| & 0.1 1.3[EEER 80 0 0 0 6.2 1025.6 79.9 70
23:00 [ & & NETR NETE 86.9 0 0 0 6.2 1025.8 79.9 70.2
24:00:00[#E /& DE:3E DE:3E 89.8 0 0 0 6.2 1025.7 85.1 70.5
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean EXHEE S EEE LS Bk T EHiRE
m/s m/s % h hPa %
Fy 3 63.6 1022.1 71.3
xE g ] 72|t A 12.4]7 90 1025.9 735
HCHF 5:25 4:55 0:00 23:52 1:22
=& 40.7 1016.2 69.3
EE# 13:28 0:03 17:42
0 6 6.2
J'Lr‘ifé (%)
[ JedesE | :ltﬁ [RER] = [HER]| @ | FEfaf | Faga | Pampa i) FibF | Jed@ | JEJEdE SGE |
BAEES 1| 0] 0.3] 0.6] 0.4] 1. 1.7 20.6 40.8] 7.5 5.6] 0]




BRI = BHKERERITXEL 2— (BHETEH)

20244018058
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h h MJ MJ hPa % % %
1:00[ & 0|7 1.6|FEF 1.1 1.6 2.3 1.1 0.1 89.8 0 0 0 0 0 0] 1025.9 90.1 88 70.8
PRI o[FEm 1.3[A LA 0.3 2 2.1 1.1 0.6 90.4 0 0 0 0 0 0 1026 90.5 88.1 711
3:00 £ & o|FadL 1.2[7 0.8 1.1 2 0.6 -0.2 91 0 0 0 0 0 0] 10256 91.9 88.4 71.4
P PESED 09[FME 0.4 0.4 1.6 0.1 -0.9 91.4 0 0 0 0 0 0] 10255 9238 90.3 717
5:00[ % 04| 1.2|FEf 05 0.3 0.7 0.3 -1.4 925 0 0 0 0 0 0| 10256 92.9 91.4 72
6:00 | FIRI &R 0.7|FALE 1.8|FAFIPE 0.8 -0.5 0.7 -0.5 -1.6 92.8 0 0 0 0 0 0 1026 94 92.5 72.3
7:00 |7 4L 76 1| PP 1.5|Fa i 1 —0.1 0.4 0.7 -1.1 9238 0 0 0 0 0 0] 10263 935 924 72.6
8:00[FIE 06| FHER IHESED 1.1 0 0.5 -0.6 -1.1 92.7 0 0 0 0 0.06 0.06] 1026.6 93.9 92.6 72.9
9:00[ & NEEES 1.6| BRI 1 42 42 0 0.8 78.9 0 0 1 1 0.61 0.67] 1026.8 934 789 73
10:00(FI & 1@ 1.7|FE 1 7.2 7.4 42 15 67 0 0 1 2 1.36 203] 10268 79.3 66.6 72.9
11:00[ & & NEEES 21|m=x 1.1 9.8 9.8 7 1.5 56.3 0 0 1 3 1.82 3.86] 1026.1 67.1 56.3 72.7
12:00[ L [KIEZ% 3.6[LE 1.2 12.2 12.6 9.6 0.2 436 0 0 1 4 2.06 592[ 10252 56.3 4238 723
13:00{db LR 1.4[dLE 38[dLdtE 1.6 13.2 13.8 121 -0.1 40.1 0 0 1 5 2.06 7.98]  1024.2 44.3 39.7 718
14:00[FJLE 22|FLE 43|JtE 2.3 13.7 14.2 13.2 0.5 40.6 0 0 1 6 1.83 981 10237 41 38.8 71.3
15:00| 5 AES 48|HILE 238 13.6 13.9 13.3 1.9 45 0 0 1 7 1.38 11.19] 10237 45 40.4 70.9
16:00 IR 19[® 41|%& 2.8 12.4 13.7 12.3 2.2 50 0 0 1 8 0.79 11.98]  1023.9 50.4 44.9 70.6
17:00| g 1.9|FAE R 3.6 BIFIR 22 9.3 125 9.3 238 63.8 0 0 0.2 8.3 0.12 12.1] 10243 63.8 50 705
18:00| FE Fa P8 2.7|FmPE 4.6|FFRE 34 8.4 9.3 8.4 3 68.7 0 0 0 8.3 0 121] 10245 69.1 63.8 70.5
19:00[ 5 0.3|FaFaFa 5.3| B 35 75 8.5 75 26 71.4 0 0 0 8.3 0 12.1]  1024.6 715 67.5 705
20:00| & NEES 193k 0.5 5.7 8.4 5.5 2.5 79.8 0 0 0 8.3 0 12.1] 1024.8 80.6 67.1 70.6
21:00[£E & NET NET 0 4 5.7 4 1.6 84.3 0 0 0 8.3 0 12.1]  1024.8 85.4 79.7 708
22:00| & NE:3E NE:3E 0 34 438 3.3 1.2 85.6 0 0 0 8.3 0 12.1] 10248 87.1 83.6 71
23:00| R NETE NETE 0 3.4 45 3 15 875 0 0 0 8.3 0 12.1] 10243 88 82.6 71.2
24:00:00[#E /& DE:3E N 0 24 3.7 24 0.5 87.3 0 0 0 8.3 0 12.1 1024 88.1 84.9 71.4
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE EHiRE
m/s m/s °C °C % mm h h MJ MJ hPa %
Fy 0.7 5.6 0.8 74.3 1025.2 715
xE R 3.5|Fre 5.3| F R 14.2 34 94 1026.9 732
HCHF 18:24 18:18 13:40 19:06 5:33 9:50 8:24
=& -0.7 -1.8 38.8 1023.7 703
Eﬂ&# 6:41 6:41 13:55 15:40 16:10
0 8.2 8.3 12.09 12.1
J'Lr‘ifé (%)

— l:lt:ltil :ltﬁ [ EE [ F | RER | M5 | mmoR | F | meed | pigs | papaes | g | padLds
EDa—)| 1

[ e [dedk@m | e | #ER [ XA |
2.6] 42| 58] 74] 3.7] 53] 33| 52] 5.6] 5] 1] 0.6] |

0.9] 04] 1 448 0]




BRI = BHKERERITXEL 2— (BHETEH)

20244015068
EES
EHRE | YRR sxmmean| BXEMAE s ronan BxToaE| 5B |[ReSE| REJEB|EARE(AMEE|RERE| WE |BEAE| BE (BEBS B |BMKE|sxeses| et
m/s m/s m/s °C °C °C °C % mm mm h h MJ MJ hPa % %
1:00[ & NE:E NE:E 0 26 3 2.1 0.8 88.4 0 0 0 0 0 0] 10235 89.7 87.3
2:00[£EJR, NETE NEE 0 3.1 32 23 1.3 88.4 0 0 0 0 0 0] 10232 90 87.9
3:.00{dLFLE [ES 471 FE 2.3 3.7 3.9 2.4 1.4 85.2 0 0 0 0 0 0] 1022.9 90.2 83.6
400 £, 0.2[f® 1.8[& 1.1 2.7 3.7 26 1 88.9 0 0 0 0 0 0] 1022.3 88.9 84
5:00 | ZE & 0|FaFa e 1[m 0.4 22 2.7 1.4 0.9 91.2 0 0 0 0 0 0| 102138 91.2 88.8
6:00| IR 09|FARER 1.9|FdL 7 1.2 1.6 23 1.5 0.3 91.4 0 0 0 0 0 o] 10217 91.9 89.7
7:00 [ & [ES AETED 1.4 1.7 22 15 0.4 915 0 0 0 0 0 0] 10219 92.1 90.2
8:00 [ £EJA [ES [IES 0.9 2.7 2.7 14 14 91.7 0 0 0 0 0.09 0.09 1022 92.7 91
9:00 | £& & 0.2|FIFaR 1.8|BE 1.4 6.7 6.7 26 26 75.3 0 0 0.7 0.7 0.65 0.74 1022 91.7 75.2
10:00[ % 0.6|FE7 [RIETE 1 12.6 12.6 6.6 3.6 54.2 0 0 1 1.7 1.24 1.97] 10217 75.3 54.2
11:00| & [ E[EE 23[FE 1.2 11.4 13.1 11.4 3.1 56.8 0 0 0.1 1.9 0.56 253 10207 57.2 51.4
12:00[FLE 05[JLE 25[dt=E 1 12.1 12.7 10.3 3.2 54.6 0 0 0.3 2.2 1.02 356] 10195 60.8 539
[FOETE 1.3[% 31[=E 1.8 13.8 13.9 12.1 4.4 53.1 0 0 0.2 2.4 0.92 447] 10183 55.6 51.1
14:00| FE R 1.5|FER 25|HmE 1.5 13.7 14.2 13.7 48 54.9 0 0 0 24 0.5 497 1018 54.9 50.8
15:00| £ [ NESEES 3.6[dtE 2.1 13.7 13.7 13.1 5.4 57.2 0 0 0 24 0.35 5.32 1018 59.7 54.9
16:00[dt 78 0.7|FHFEHE 25|FrEm 1.4 12.8 13.8 128 6.6 66.2 0 0 0 24 0.24 556 1018.1 67.2 56.6
17:00|Fa L 1.2[3b 7 2.9|FERIPE 1.5 11.7 12.8 11.7 6.1 68.8 0 0 0 24 0.04 56] 10186 71.4 66.2
18:00] 7 1.7 4.1|7 2.5 11.7 11.7 11.1 6.8 718 0 0 0 24 0 56| 1018.6 76.7 68.4
19:00[ L7 1.2[dbdtFE 3.2[4t 1.9 9.7 117 9.3 76 86.6 0 0 0 2.4 0 5.6 1019 86.9 71.7
20:00[FadL 7 FAEER 8.7|#EdL G 5 9.8 10.4 9.7 4 67.3 0 0 0 24 0 56| 1019.9 86.8 66
21:00|FadL T 27|t A 9.1|7 5.4 9.1 9.8 8.9 4.1 70.8 0 0 0 2.4 0 56| 10204 74 67.3
22:00|FadL T 3.6]7 5.8|FadL T 3.7 8.5 9.2 8 2.4 65.7 0 0 0 24 0 56| 1020.6 77.4 65.6
23:00(78 27|t A 57|t A 3.6 15 8.6 74 1.7 66.8 0 0 0 2.4 0 56| 10208 72.2 65.7
24:00:00 [ FH L7 2.6]7 54|78 33 6.6 7.6 6.5 1.6 70.3 0 0 0 24 0 56| 10211 70.9 65.4
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE
m/s m/s °C °C % mm h h MJ MJ hPa
Fy 1.2 8 3.1 732 1020.6
xE B[] 5.4|FJL A 9.1|7 14.2 77 92.7 1024
HCHF 20:06 20:04 13:16 19:03 7:26 0:25
=& 1.4 -0.2 50.8 1017.8
EE% 7:15 453 13:41 14:53
0 2.3 2.4 5.61 5.6
J'Lr‘ifé (%)

[k | dtFm [ HILE | F | Hemm | e | mame | /| mmes | I_ﬁﬁ Eﬁﬁ 7 | padtps | Jees | dedbd® | db [ EEE [ RA[ |
REES 1| 1.7] 36] 1] 12| 48] 42| 3.38] 25| 28] 33] 15.9] 13.2] 53] 22| 19] 242 0]




BRI = BHKERERITXEL 2— (BHETEH)

20244014078
EES
EHRE | YRR sxmmean| BXEMAE s ronan BxToaE| 5B |[ReSE| REJEB|EARE(AMEE|RERE| WE |BEAE| BE (BEBS B |BMKE|sxeses| et
m/s - m/s m/s °c °c °c °c % mm mm h h MJ MJ hPa % %
1:00[3t7 1.9|#HIL A 477 3 5.8 6.7 5.8 0.9 71 0 0 0 0 0 0| 10212 71.4 69.1
2:00|Fa L7 17 s 4.1|FILA 2.5 5.7 6.1 5.6 0.1 67.5 0 0 0 0 0 0 1021 71.7 66.4
3:00|#HIL A 1.8|Fa it 4.1|AJLEm 2.1 48 5.9 48 1 76.5 0 0 0 0 0 0] 10206 76.5 67.2
4.00(FILFE 2.7|A 48|AJLE 2.7 43 49 43 -0.1 73 0 0 0 0 0 0 1020 76.5 69.9
5:00[ L7 1.7|fa i 5.4|Fa L7 3 3.4 44 3.4 -0.6 75.3 0 0 0 0 0 0 1020 75.3 71.7
6:00 & 0.2|JtF 3.9[FdL 2.1 1.7 3.9 1.7 -13 80.7 0 0 0 0 0 0] 1020.1 80.8 69.9
7:00 | & 0.1|FRER 1.5|FIRIR 05 0.6 1.7 0.5 -2.1 82.3 0 0 0 0 0 0] 10203 85 80.7
8:00|HER 0.7\ R IHESED 0.7 1.8 1.8 0.3 -1.1 81.1 0 0 0 0 0.08 0.08] 10208 85.3 79.2
9:00(FI# 05|F KR P EED 1.1 5.4 5.4 1.8 -1.3 62.2 0 0 1 1 0.71 0.79] 10209 81.1 62.2
10:00] 78 31|@ 48|F 3.1 8.4 8.6 5.4 -3.7 423 0 0 0.9 2 1.21 2] 10207 62.5 42
11:00[ 78 35| 6.8|FaJLE 3.6 8.5 8.6 8.1 -2.4 46.4 0 0 0.2 22 0.93 293 10199 46.8 41.4
12:00] 7 5.1|FadL# 9.6]78 5.7 8 8.7 78 -0.3 55.8 0 0 0.1 2.2 0.78 371 1019.6 55.8 453
13:00| 78 35|78 89|F 5.9 8.3 9 7.2 0.8 59.5 0 0 0.3 2.5 1.08 479 1019 65.2 54.4
14:.00[ L7 47|% 9.6[1LF 47 6.7 8.4 6.4 1 67.2 0 0 0 25 0.27 506] 1018.8 74.6 58.4
15:00[ AL F 2.5/t 89[dtF 5.2 6.6 7 6.2 2.2 73.6 0 0 0.3 2.8 0.8 5.86] 1019.2 76 67.2
16:00[ L7 1.8[JLF 75[dtFE 3.9 6.3 7.1 6.2 0.7 675 0 0 0 2.9 0.33 6.19] 1019.8 73.6 65.9
17:00|Fa L 2.3|FdLE 6.3|FadLE 3.4 6.3 6.5 6.3 -0.7 60.9 0 0 0 29 0.07 6.26] 1019.9 675 60.9
18:00[ L7 4.1]JtFA 9.5|FdL T 48 5.8 6.4 5.8 -5.2 452 0 0 0 29 0 6.26] 1020.8 60.9 45
19:00[Jt 78 3.8|FAItA 1253k 5 4.9 5.8 48 -5.9 457 0 0 0 2.9 0 6.26] 1021.3 457 429
20:00[JEFE 49[4c# 11.1[JEF 6 45 5 45 -6.2 4538 0 0 0 29 0 6.26 1022 458 44
21:00[Jt 78 3.7[dtA 13[dtFA 6 3.8 45 3.8 -58 498 0 0 0 2.9 0 6.26] 1022.5 50 449
22:00[JtF AAEERE 10.4|FadL T 5.4 3.6 3.9 35 6.1 49.4 0 0 0 2.9 0 6.26] 1022.8 50.7 475
23.00|Fa 4L T 4.1|AdLE 10.5[7&ILE 5 34 3.7 34 -6.9 471 0 0 0 2.9 0 6.26] 1022.8 497 45.6
24:00:00 [ FH L7 47|FJLE 10.3[FadL T 47 3.6 3.6 3.2 -75 441 0 0 0 2.9 0 6.26] 10231 477 441
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE
m/s m/s °C °C % mm h h MJ MJ hPa
Fy 2.8 5.1 -2.1 61.2 1020.7
xE g ] AR 13[dt A 9 2.9 85.3 1023.1
HCHF 20:16 20:33 12:13 14:17 7:09 0:00
=& 0.3 -16 41.4 1018.5
EE# 7:03 23:59 10:03 13:54
0 2.8 2.9 6.26 6.26
J'Lr‘ifé (%)

EEEE :ltﬁ [ HALER | 3H | HEE®R | me | e | @M |ﬁﬁﬁl wPs | Papags | P8 | padees | drea | JedRAE | db [ ERE O] O RAEL
REES 1| 0] 0.1] 0] 0.1] | ] ] | 5] 426 26.2] 0.8 0.1] 56] 0]




BRI = BHKERERITXEL 2— (BHETEH)

2024401 H08H
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h h MJ MJ hPa % % %
1:00|FadL 7 34|AdLE 9.9|FILE 5 3.3 3.6 3.3 -73 459 0 0 0 0 0 0] 10236 459 436 67.9
2:00[Jt 7 23|It A 6.5|FaILE 3.6 3 34 2.9 -713 46.9 0 0 0 0 0 0] 10242 48.1 457 67.6
3:00[ b7 1.9[dEF 6.2|JL 2.9 3.4 35 3 -73 457 0 0 0 0 0 0] 10245 473 453 67.3
4:00[ L7 31| dL 8[JtA 3.9 3.1 35 3.1 6.9 479 0 0 0 0 0 0] 10245 479 449 67
5:00| A JLF 2.3|FILE 5.8|1L 3.4 2.8 3.2 2.6 -6.4 50.8 0 0 0 0 0 0] 10247 51.3 479 66.8
6:00[Jt 7 2.1|AdLE 6.1|FdLE 3.1 2.9 3 2.6 -5.6 53.9 0 0 0 0 0 0] 10258 53.9 50.8 66.6
7:00 [ & B[ HER::] 2.3 1.2 3.1 1.1 -4.9 64.2 0 0 0 0 0 0] 10263 64.2 53.3 66.6
8:.00(FILFE 31|AEEE 6.6|FaIL 32 3.7 3.7 0.9 -44 55.4 0 0 0.1 0.1 0.11 0.11] 10269 65.2 55.4 66.4
9:00|FJLF 37|AItA 74|71 4 5.1 5.2 3.7 -4.4 50.4 0 0 1 1.1 0.79 09| 1027.6 55.4 50.4 66.2
10:00[ AL FE 48|FJLE 8.5|F LA 5 6.1 6.3 5.1 -4 45.9 0 0 1 2.1 1.39 2.28]  1028.1 50.4 459 65.9
11:00[FJLF 4.4|FJLEA 90.1|FadL 5 7.2 7.3 6 -55 40 0 0 1 3.1 1.84 412] 10278 459 39.8 65.5
12:00[ 7L EE 3[FEIE 75|FILE 438 8.1 8.4 7 -58 36.9 0 0 0.9 4 2.1 6.23] 10271 40.1 36.8 65.1
13:00[dtJE 8 2.8|FILA 7.2|FadL 3.8 8.3 8.6 74 -6.9 33.4 0 0 0.4 44 143 7.65| 1026.8 375 334 64.6
14:00[ L7 42|F 7.7|FILE 42 9 9.2 7.7 6.1 34 0 0 0.6 5.1 1.68 9.34] 1026.4 36.3 334 64.1
15:00[ L7 RE[E [ 6.3|FadL 42 9.1 9.7 8.7 6.1 33.7 0 0 1 6.1 155 10.88]  1026.3 34 31.8 63.7
16:00[JLIEFE 29[dtFE 57| 3L 3.1 8 9.1 8 -6 36.5 0 0 1 7.1 0.85 11.73]  1026.4 36.5 332 63.3
17:00[dt 133k 49[Jeded® 2.9 6.3 8.1 6.3 -5 442 0 0 0.3 74 0.16 11.89]  1026.9 44.2 36.2 63
18:00[ & & [E3 2.2|dtItFE 1.3 3.1 6.3 3.1 -3.7 60.9 0 0 0 74 0 11.89] 10277 60.9 442 63
19:00[ZE & o|FEEma 0.8|ER 0.2 2.9 3.3 2.5 -35 62.8 0 0 0 74 0 11.89]  1027.8 64.6 60 63
20:00] & 0.1 193t 0.3 2.5 4 2.5 -3.9 63 0 0 0 7.4 0 11.89] 10272 65.7 56.7 63
21:00[JLF 0.6/t 7 1.9[dtF 0.6 1.6 2.5 1.2 -38 67.6 0 0 0 74 0 11.89]  1027.3 71.8 63 63.1
22:00| & o|FadL 2.3|FdL T 1.1 0.5 1.6 0 -3.2 76.4 0 0 0 7.4 0 11.89 1027 77.9 67.6 63.3
23:00| R 0.1]|FJLE 1.6| R 0.1 0.7 0.7 0.6 -2.9 77 0 0 0 74 0 11.89]  1027.3 82 75.8 63.5
24:00:00 [ &R, N N 0.1 0.1 0.9 0.3 -3.3 78.3 0 0 0 7.4 0 11.89]  1027.1 815 743 63.7
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE EHiRE
m/s m/s °C °C % mm h h MJ MJ hPa %
Fy 2.2 43 -5.2 52.2 1026.5 65
xE B[] 5|#dL A 9.9|FILE 9.7 -2.6 82 1028.2 68.2
HCHF 10:31 0:37 14:12 22:59 22:26 10:26 0:01
=& -0.6 -18 31.8 1023 62.7
Eﬂ&# 22:23 0:34 14:21 0:16 17:05
0 7.3 74 11.9 11.89
J'Lr‘ifé (%)

[JedtsR | b3 [ R | 3 | R@seR | mask | pAemee | @5 | paped | papa | gapmed | pa | gadees | dJeps | Jedbd | b | EEREO] ORGA[ |
REES 1| 0.1 1] 0] 0] 0] 0] 0] 0] 03] 0.6] 19 32.2| 28.3] 7.4] 22| 263 0]




Bl BHKEREBRNTXIBEL Y — (RHETAH)
20244015098
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h h J MJ hPa % % %
1:00[ & NE:E NE:E 0 0.3 0.4 05 -3.3 80.6 0 0 0 0 0 0] 102638 82.1 783 63.9
PRI NEE NETE 0 0.7 -0.3 -1.5 -3.3 825 0 0 0 0 0 0] 10266 83.9 80.3 64.2
3:00 £ & o|FadL 1.3[dededE 0.4 -2 -0.6 -2.3 -3.8 87.9 0 0 0 0 0 0] 1026.1 88.1 80.1 64.5
400 £, N N 0 -2.6 -1.7 -2.6 -4.6 86.2 0 0 0 0 0 0] 10257 87.9 85.4 64.8
5:00 | ZE & NE:TE NE:E 0 -25 -1.8 -2.6 -4.4 86.8 0 0 0 0 0 0| 10257 88.8 86.2 65.1
6:00 & 0.1JtE 1.3[ R 0.1 -25 -2 2.9 -44 87.1 0 0 0 0 0 0 1026 88.8 86 65.4
7:00 [ & [ES 1.3[RER 0.8 -2 -1.9 -3.1 -4 86.4 0 0 0 0 0 0] 102538 88.8 86 65.7
8:00 [ £EJA o[FEEm 1.1 [ER 0.2 -1.6 -16 -2.6 -35 87.1 0 0 0.1 0.1 0.09 0.09] 10259 88.4 85.3 66
9:00[ & NEES 12| R 0.2 1.9 1.9 -1.6 -2.8 71.3 0 0 1 1.1 1.09 1.18 1026 87.1 71.3 66.1
10:00[ L7 1.7[FILAE 2.8|FdL T 1.8 5.1 5.2 1.9 -2.7 57.3 0 0 1 2.1 1.39 257] 10256 716 57.1 66
11:00[Eg & 0.6|FILFE 2.3[dbE 1.7 75 76 5 -1.9 51.5 0 0 1 3.1 1.8 437 10245 57.3 51.3 65.8
12:00[FJLE 1.6[JLE JA|ELE 1.6 10.3 10.4 75 -2.5 40.7 0 0 1 4.1 2.03 6.4]  1023.3 51.5 40.7 65.4
13:00[% 2.8|& 45|%K 2.9 10.8 11 10 -14 427 0 0 1 5.1 2.04 8.44| 10227 428 39 65.1
14:00[ % 28|& 6.4|RFE 3.6 10.8 11 10.3 -1.4 4238 0 0 1 6.1 1.79 10.23] 10222 43.7 405 64.8
15:00| EI &R 1.2|& 48|%E 3.1 11.2 11.2 10.7 -1.3 4138 0 0 1 7.1 1.35 11.59]  1022.1 435 412 64.5
16:00[ & & 02|FER 46|/ 2.8 10.5 11.3 10.5 -1.2 44.2 0 0 1 8.1 0.78 12.36 1022 448 418 64.2
17:00[ & & ol@E 1.3|FEf 05 6.8 10.5 6.8 0.6 64.7 0 0 0.3 8.3 0.14 125] 10225 65.1 442 64.2
18:00 | £&E & O[FILE 21[@E 0.7 6 76 5.4 0.6 68.3 0 0 0 8.3 0 125] 10227 71.8 60.5 64.3
19:00[% 1.8[& PRIES 2 5.2 6.3 5.1 0.2 70.3 0 0 0 8.3 0 125] 102238 70.3 65.7 64.4
20:00| & o|m 19[& 1.8 35 5.2 35 -0.7 74.1 0 0 0 8.3 0 12.5] 10225 77 70.3 64.5
21:00| R NETE NETE 0 2.3 3.9 2.3 -0.6 81.6 0 0 0 8.3 0 125]  1022.4 81.7 742 64.8
22:00| & NE:3E N 0 2.3 3.1 2.2 -0.6 81.4 0 0 0 8.3 0 125 102138 83.6 80.4 65
23:00| R 0.1]% 12| R 0.1 2.6 3.3 1.9 -0.7 78.9 0 0 0 8.3 0 125] 10213 84.2 772 65.2
24:00:00 [ FH L7 0.6]F 1.6|FEFE R 0.8 24 3.4 1.8 -0.4 82.2 0 0 0 8.3 0 12.5] 10208 84.1 771 65.5
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE EHiRE
m/s m/s °C °C % mm h h MJ MJ hPa %
Fy 0.5 35 -2 69.9 1023.9 65
xE Ed 3.6|%F 6.4|RER 11.3 0.9 88.8 1027.1 66.3
HCHF 13:41 13:33 15:01 17:58 6:55 0:20 8:20
=& -3.1 -4.9 39 1020.7 63.7
EE# 6:48 6:48 12:33 23:52 0:01
0 8.4 8.3 125 12.5
J'Lr‘ifé (%)
[dedesm [ Jes® [ RALHR [ H | Reask | masR | eamasR | #3 | papga | papa | papmed | P | padves | deew | JededE [ b [ EREO[ ORA
BAEED1—) 1.4] 2.5 3.9] 8.1] 5] 2.6] 1.8] 2.3 0. 0.6] 0.2] 1] 2.1] 0.4] 0.6] 0.3] 66.7] 0]




BRI = BHKERERITXEL 2— (BHETEH)

20244018108
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h h MJ MJ hPa % % %
1:00[ B & 0.3[3t 1.6|7aEIPE 1.1 1.7 2.4 1.3 -0.7 84.4 0 0 0 0 0 0] 10203 84.8 81.4 65.8
PRI [ES 17[3EE 1.3 1.9 2.3 1.2 -0.3 85.4 0 0 0 0 0 0] 1019.8 85.7 81.7 66.1
3:00 £ & NE:TE N 0 1.2 1.9 0.9 -0.9 86.4 0 0 0 0 0 0| 10187 86.8 845 66.4
4:00[ &R PEEE 1.9|Fm 1.1 0.6 1.6 0.4 -14 86.5 0 0 0 0 0 0] 1017.6 88 84.8 66.7
5:00 | ZE & o|FaFa e 12| 0.2 0.5 1 0.3 -1.4 87.2 0 0 0 0 0 0| 10165 88.9 86.5 67
6:00 & NEE NEE 0 0.1 0.8 —0.1 -1.6 88.7 0 0 0 0 0 0] 1016.3 90.5 87.1 67.3
7:00 [ & [ E[EAi] 147 0.8 0 0.6 —0.2 -1.4 905 0 0 0 0 0 0| 101638 90.7 88.6 67.6
8:00 [ £EJA 0.1]F 1.3[ R 0.1 1.3 14 0 -0.5 88.3 0 0 0 0 0.06 0.06 1017 91.4 87.7 67.9
9:00[ = 0.1]% 0.8|ER 0.1 43 4.4 1.2 1 79.5 0 0 0 0 0.32 0.38] 10175 88.5 78.6 68.1
10:00[ & & o[dtE 1.8[dbdtFAE 0.8 5.6 5.7 43 1.2 73.2 0 0 0 0 0.46 0.84] 10175 80.1 71.9 68.2
11:00[£E & 0.1]JtF 21| 1.2 6.8 6.8 5.5 1.9 70.9 0 0 0 0 0.42 1.26 1017 732 69 68.2
12:00[ & & DE:3E N 0.1 8 8 6.7 2.2 66.7 0 0 0 0 0.5 1.76]  1016.2 71 66.6 68.2
13:00[ & & ol@E 0.8|ER 0 9.4 9.4 7.9 3 64.4 0 0 0 0 0.85 261] 10158 66.8 63.6 68.1
14:.00[ L7 14[ERIE RIE[A:] 15 9.9 10.1 9.2 45 69.3 0 0 0 0.1 0.9 35 1015 74.8 63.6 68.1
15:00[JL 78 1.2|JtFE 35[dtF 2.3 10.4 10.4 9.9 3.8 63.9 0 0 0 0.1 0.61 411] 1015.1 69.6 63.7 68
16:00[Jt 2.6/dL 493t 2.6 9.6 10.5 9.5 3.6 66.4 0 0 0 0.1 0.13 424 10154 68.6 63.5 68
17:.00[Jt 7 1.8[dLItFE 49[JtJEF 2.9 9.1 9.6 9.1 3.4 67.6 0 0 0 0.1 0.02 4.26 1016 67.6 65.8 68
18:00[Jt PRI EIA:] FIE 4.1 8.5 9.1 8.5 3.1 68.9 0 0 0 0.1 0 426] 10169 68.9 67 68
19:00( KIE[3 6.3/dt 3.2 8.3 8.5 8.3 2.2 65.6 0 0 0 0.1 0 426] 10177 69.2 65.6 68
20:00[JLILE 2.6[dtIt A 6.8[dt 35 8.1 8.3 8.1 1.6 63.9 0 0 0 0.1 0 426]  1017.7 65.6 63.3 67.9
21:00[dt 143k 591t 2.8 78 8.1 7.7 1.2 62.9 0 0 0 0.1 0 426 10181 64.6 62.3 67.8
22:00[dbdLE [IEEES 46[dLdLE 2.5 7.8 7.9 7.7 1.6 65 0 0 0 0.1 0 426] 10182 65 62.5 67.8
23:00[JLLFE 1.7k 6.9/dt 3.2 7.7 7.9 7.7 0.8 61.9 0 0 0 0.1 0 426] 10183 65.8 61.8 67.7
24:00:00[ 3k 1.6[dbdLE QEEE 2.9 7.7 7.8 7.6 1.1 63 0 0 0 0.1 0 426] 10176 63 60.5 67.6
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE EHiRE
m/s m/s °C °C % mm h h MJ MJ hPa %
Fy 0.9 5.7 1.2 738 1017.2 67.6
xE E[4 41[dedeil FIER 10.5 5.8 91.4 10208 68.3
HCHF 17:49 17:42 15:05 13:49 7.07 0:03 10:20
=& -0.2 -1.9 60.5 1015 65.5
EE# 6:59 5:17 23:12 14:49 0:01
0 0 0.1 427 4.26
J'Lr‘ifé (%)

— l:lt:ltil AE [ RIEFE [ H | REIR | R | PApR | P | papars | mIgd | gapars | 79 | gadLen
EDa—)| 1

[ e [dedk@m | e | #ER [ XA |
10] 1] 03] 1] 1] 05] 0.1] 03] 02] 04] 0.6] 4] 5]

95] 67] _ 21.2] 438 0]




Bl BHKEREBRNTXIBEL Y — (RHETAH)
2024401 A11H
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h J MJ hPa % % %
1:00[JL3L 09[JtFA 5.3[1L 2.4 74 7.7 7.2 05 615 0 0 0 0 0 0| 10174 66.7 615 67.5
2:00[Jb LR 16[JELE FEEET 2 6.8 74 6.8 -1.7 54.9 0 0 0 0 0 o[ 101741 61.5 54.4 67.3
3.00(FILFE 1.6]AEILA 3.3[4 1.9 55 6.9 5.2 1.6 76.3 0 0 0 0 0 0] 1016.9 76.6 545 67.4
4.00[JtFE 1.8|AdLA 43|JtA 2.5 5.3 5.8 5.2 2.1 80.2 0 0 0 0 0 0] 10165 80.4 753 67.6
5:00| L F 24|t 5.4|Fa L7 3.2 44 5.3 44 1.3 80.4 0 0 0 0 0 0| 101638 80.4 759 67.8
6:00|FEJLF 24| dL T 55|FILE 35 42 438 4.1 0.2 75.2 0 0 0 0 0 0] 10172 815 723 67.9
7:00| AL F 2.7\ 4L 5.6|Fa L7 3.3 3.3 43 3.3 0.3 81.1 0 0 0 0 0 0| 101738 81.3 727 68.1
8:.00(FILFE 29[ dL T 6.5|FadL T 3.9 2.8 3.8 2.8 0.4 84.4 0 0 0 0 0.06 0.06] 10182 84.4 76.9 68.3
9:00|FJLF 3.5\ 4L 9.1|FadL 45 3.3 3.6 2.6 -0.1 78.4 0 0 0 0 0.2 0.25] 1019.1 85.3 775 68.4
10:00[ AL FE 3[FEIEAE 6.2|FEdt A 3.6 5.6 5.6 3.2 0.3 68.8 0 0 0.6 0.6 0.9 1.15] 10193 79.9 68.8 68.4
11:00[FJLF 46|F 8.6/ 49 8.4 8.5 5.6 -1.8 488 0 0 1 1.6 1.8 295 10186 68.8 48.6 68.1
12:00[7F 42|F 79| 49 10 10.1 8.3 -1.7 44 0 0 1 2.6 2.09 505 1017.8 4838 435 67.7
13:00[ 7 3.8|FAItA 7.9|7 43 10.9 1.1 9.9 -238 38.2 0 0 1 3.6 2.11 7.16] 10174 44 38.1 67.3
14:00[ 7 2.4|7 6.9[Fa LT 3.8 12.1 12.1 10.8 -35 33.6 0 0 1 4.6 19 9.06] 1016.8 38.2 33.6 66.8
15:00|Fa L 2.3|FdLA 6.8|FaJLE 3.7 12.3 12.6 11.8 -4 32 0 0 1 5.6 1.5 10.56] 10168 33.9 31.6 66.3
16:00| 78 24|78 46(78 2.7 12 12.9 12 -3.3 343 0 0 1 6.6 0.9 11.46] 10171 34.3 30.9 65.8
17:00|Fa L e 1.7[dbdb 8 5.6|dtitFE 238 9 12.4 9 -6 34.3 0 0 0.4 7 0.19 11.64] 10175 34.9 28 65.3
18:00[ & & 0|7 33|@ 2.2 5.6 9 55 -4.2 495 0 0 0 7 0 11.64] 10183 495 343 65.1
19:00[ZE & NEEES 1.2[FIR 0.3 35 5.6 3.3 -4.2 57.4 0 0 0 7 0 11.64] 1018.6 57.9 495 65
20:00| & [ E[E[E 1.2[RER 0.4 3.6 3.8 1.9 -5 53.4 0 0 0 7 0 11.64] 10185 62.3 53.4 64.8
21:00[ R [HESED PRIES:ES 1.5 1.9 3.6 1.6 -4.8 61.4 0 0 0 7 0 11.64] 1018.6 65.2 53.3 64.7
22:00| & O|FEIR 1.9|FHER 15 1.2 2 0.7 4.1 68.1 0 0 0 7 0 11.64] 10185 69.5 61.4 64.8
23:00| R NETE NETE 0 0.6 15 0.2 -4.4 69.4 0 0 0 7 0 11.64] 1018.6 72.3 65.3 64.9
24:00:00 [ &R, DE:3E N 0 0 1.1 0.2 -438 70.4 0 0 0 7 0 11.64] 10185 72.8 68.4 65
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE EHiRE
m/s m/s °C °C % mm h MJ MJ hPa %
Fy 2 5.8 -2.1 59.8 1017.8 66.7
xE B[] 49(FJL 9.1|7 12.9 2.2 85.3 1019.7 68.6
fl 11:15 8:34 15:18 3:58 8:20 9:42 9:17
=& -0.2 -6.9 28 1016.4 64.6
EE# 23:21 16:56 16:33 4.09 20:04
0 7 7 11.65 11.64
J'Lr‘ifé (%)
[JedtsR | b3 [ sRALER | 3 | REEeR | Ak | pammee | @5 | paeaed | Fﬁﬁ Eﬁﬁ 78 [ padtds | dtdm [ JedEdE [ dt [ ER O[O RE |
BAEED1—) 3.8] 0.1] 0.1] 0.8] 1.8] 0.6] 0.5] 0.3] 0.1 0.8] 16.9] 37.6] 11.4] 2.6] 1.6] 206 0]




BRI = BHKERERITXEL 2— (BHETEH)

20244018128
EES
EHRE | YRR sxmmean| BXEMAE s ronan BxToaE| 5B |[ReSE| REJEB|EARE(AMEE|RERE| WE |BEAE| BE (BEBS B |BMKE|sxeses| et
m/s m/s m/s °C °C °C °C % mm mm h h MJ MJ hPa % %
1:00[ & 0.2[dt 1678 0.6 05 0.8 05 -5.3 70.4 0 0 0 0 0 0| 10185 71.1 67.7
200 HER PHESES PRIESED 0.5 0.3 0.8 -0.6 -4.2 72.1 0 0 0 0 0 0] 10187 734 66.9
3:00 £ & NES PRIES:GES 0.7 -0.3 0.9 -0.3 -4.3 74.6 0 0 0 0 0 0| 10183 74.6 68.4
4:.00| A PEIES:ET PR ESED 1.1 0.5 1.4 -0.5 -3.6 74 0 0 0 0 0 0] 1o18.1 76.1 69.6
5:00 | ZE & NEES 1.3|FamIse 0.7 —0.2 0.8 —0.7 -3.9 76.5 0 0 0 0 0 0| 10183 80.7 74
6:00 £ & PIES 1.6|HILE 0.8 -0.4 0.7 -0.6 -2.9 83.1 0 0 0 0 0 0] 10183 84.6 76.5
7:00 | & O|FImIPE 21| &R 0 1.1 1.3 —0.7 -1.7 81.6 0 0 0 0 0 0| 10186 85.8 81.6
8:00| E R 0.6|F 27[dtdtE 1.2 2.9 34 0.9 -0.8 76.6 0 0 0 0 0.04 0.04] 10188 82.9 749
9:00| 7 2.7|A 5|7 2.8 8.1 8.1 2.8 0.6 59.3 0 0 0.1 0.1 0.35 0.39] 10188 79.6 59.2
10:00[ AL FE 2|7 46| 2.7 10.7 10.7 8.1 1.5 53.1 0 0 0.7 0.8 1.16 1.56] 1018.6 59.3 53.1
11:00| 78 45(FILF 9.8|FIL A 5.6 12.6 12.6 10.6 0.2 425 0 0 0.9 1.7 1.68 3.24] 10176 53.1 425
12:00] 7 5.2|FEILEE 9.5]78 6 13.2 134 12,5 -0.6 38.8 0 0 1 2.7 1.95 5.19 1017 425 38.4
13:00[ A JLF 46(7FILF 9.4|7 55 14.2 14.3 13.1 -14 34.1 0 0 1 3.7 2.03 7.22] 1016.6 39 339
14:00] 7 5.3|78 10.9[7 6.4 13.7 14.3 13.4 -05 37.7 0 0 1 47 1.89 9.1 1016.6 38.1 34.1
15:00|Fa L 6.2|FadLE 12.6|FEdL A 71 13 14 13 -0.9 38.4 0 0 1 5.7 1.42 1052] 1017.2 39.4 373
16:00] 78 48[# 10.6]FadL T 6.3 12.4 13.2 12.4 -0.4 41.2 0 0 1 6.7 0.83 11.36] 10175 41.2 38.4
17:00|Fa g A 1.1[7 7.6|78 49 11 12.5 11 -0.4 452 0 0 0.4 7.1 0.18 11.54]  1017.7 45.2 41.1
18:00(FI 4 09|FfE 3.9|mrE 1.6 95 11 8.4 0.2 52.3 0 0 0 7.1 0 11.54 1018 57.3 452
19:00[£E & O|FIFE 2.7|FERIPE 1.6 7.6 9.6 74 0.6 61.4 0 0 0 7.1 0 11.54] 10179 61.4 515
20:00| & NET 1.2|FE 0.7 5.7 7.6 5.4 0.9 71.4 0 0 0 7.1 0 11.54] 10182 71.4 61.4
21:00[£E & 0|FEmIPE 1.7|FEEA P 1.1 5 6 49 0.7 73.8 0 0 0 7.1 0 11.54] 101841 7338 70.3
22:00| & 0.2|RER 1.6{FHEIR 0.8 6.1 6.6 48 15 72.3 0 0 0 7.1 0 11.54] 10184 76.5 70.1
23:00| R [ E[E[E AEET 0.6 5.6 6.9 5.6 3 83.3 0 0 0 7.1 0 11.54]  1018.8 83.3 709
24:00:00[#E /& NERE:S 1[ER 0.2 4.9 6.1 47 2.5 84.9 0 0 0 7.1 0 11.54] 10185 85.3 80.8
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE
m/s m/s °C °C % mm h h MJ MJ hPa
Fy 1.7 6.5 -0.8 62.4 1018
xE i) 71| A 12.6|Fa 4L 14.3 33 85.8 1018.9
HCHF 14:36 14:30 13:03 23:40 6:18 9:38
=& -0.7 -5.5 33.9 1016.5
EE# 6:12 1:44 12:54 14:27
0 7.1 7.1 11.53 11.54
J'Lr‘ifé (%)

[ JedtsR | b3 [ sRALER | 3 | REgsR | mak | mAmese | F5 | pApeed | @e Eﬁﬁl 7 | padtps | Jees | dedbd® | db [ EEE [ RA[ |
REES 1| 0.7] 09] 1.3] 5] 3.6] 35] 0.6] 04] 0.6] 29] 44] 19.7] 15.5] 0.9] 0.6] 01] _ 403] 0]




BBt S BHKEREBRNTXIBEL Y — (RHETAH)
2024401 A 13H
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h J MJ hPa % % %
1:00 0|FaFaE 1.2[ R 0.1 5.2 5.4 45 1.8 79 0 0 0 0 0 0| 10185 85.4 79 64.4
2:00 PETED 1.5/ 0.6 5.2 5.3 4.1 1.8 79.1 0 0 0 0 0 0] 10185 83.8 789 64.6
3:00 NE:3 NE:E 0 4.7 5.8 45 2 825 0 0 0 0 0 0| 10183 84.2 776 64.9
4:00 [ES 0.4 ER 0 2.5 4.7 2.5 0.3 85.9 0 0 0 0 0 0 1018 88.4 825 65.2
5:00 [EET 1.3[dLE 0.3 2.1 2.9 1.8 0.4 89.1 0 0 0 0 0 0] 10179 90.4 85.9 65.6
6:00 0.1|FFE R KIS 0.3 2.6 2.6 1.6 1.1 90.4 0 0 0 0 0 0] 10182 91.4 88.9 66
7:00 0.1|FfE A 1.2| R 0.1 2 2.8 1.8 0.2 88.2 0 0 0 0 0 0| 10184 90.8 88.2 66.3
8:00 NIEES 1.2[ R 0.2 3.3 34 1.9 1.2 86 0 0 0 0 0.08 0.08] 10188 89.5 85.5 66.6
9:00 [RIEES 1.8|ER 1.1 6.4 6.4 3.1 24 75.6 0 0 0.3 0.3 0.4 0.48 1019 86.8 75.6 66.7
10:00 3.8[dL 7.5[1L 4 11.6 11.6 6.4 -0.3 44 0 0 0.9 1.2 117 1.66] 1018.9 75.6 44 66.4
11:00 5.1|FdLE 10.4|FadL T 55 13 13.1 115 -3.2 324 0 0 1 2.2 1.81 3.46] 10187 44 323 65.9
12:00| 7 5.6|FaILE 11.7|FdLE 6.4 135 13.6 12.8 -2.7 32.6 0 0 1 3.2 2.16 563] 10185 33.3 31.1 65.4
13:00 6.5|FILA 14|FadL T 75 12.8 13.6 125 -38 31.4 0 0 0.9 4 2.06 7.68] 1018.6 334 30.6 64.9
14:00 7|EIEE 16.6|FadL 8 11.9 134 11.4 -238 35.9 0 0 0.7 48 1.64 932 1019.6 38.7 31.2 64.5
15:00 7|@EILAE 15.9|FadLF 8.3 115 12.1 11 -5 31.3 0 0 0.6 5.4 0.99 10.31]  1020.7 36.1 30.7 64
16:00 46|FJLA 14.2|FILE 8.3 9.9 11.5 9.9 —4.1 372 0 0 0.2 5.6 0.49 10.8] 10225 37.2 30.2 63.6
17:00 29[JtItF 1.6/ 3L 6.1 7.7 9.9 7.7 -0.7 55.4 0 0 0 5.6 0.05 10.85] 1024.2 55.4 372 63.5
18:00 49[JtJEE 9.2[JL3L 5.3 7.1 7.8 7.1 -0.7 57.6 0 0 0 5.6 0 10.85] 1025.8 59 53.7 63.4
19:00 3.8|JLdL 10.3[JE 3L 5.4 6.2 7.1 6.2 -25 53.8 0 0 0 5.6 0 10.85] 10275 57.6 52.1 63.3
20:00 42|3tJEEm 9.6[JLIL T 43 5.4 6.2 5.3 -23 57.6 0 0 0 5.6 0 10.85 1028 57.8 529 63.2
21:00 33[dtitA 10.4|Jt 3L 5 45 5.4 45 -2.9 58.6 0 0 0 5.6 0 10.85] 1028.3 58.6 56.2 63.1
22:00 2.3[1LE 71[3LE 3.4 4.1 45 4.1 -3.9 56.1 0 0 0 5.6 0 10.85] 1028.7 59.3 56.1 63
23:00 25|FdLE 52[JtF 3.2 35 4.1 34 -4.9 54.1 0 0 0 5.6 0 10.85 1029 56.2 51.6 62.9
24:00:00 2[dt & 58|t 2.7 2.6 3.6 24 -4.9 58.1 0 0 0 5.6 0 10.85 1029 58.2 52.7 62.8
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE EHiRE
m/s m/s °C °C % mm h MJ MJ hPa %
Fy 2.9 6.6 -1.4 60.5 1021.8 64.6
xE Bl 8.3|F LA 16.6|FadL T 13.6 3 91.4 1029.1 66.9
HCHF 15:14 13:08 12:06 9:26 5:51 23:59 8:31
=K 1.6 -5.7 30.2 1017.8 62.7
EE# 5:43 15:38 15:11 5:00 23:09
0 5.6 5.6 10.85 10.85
J'Lr‘ifé (%)
[ JedesE | :ltﬁ [ kT | = | Hmsm | R | marEsR | | e | mpa | papaps | P8 | padrps | dJees | dedkd® | b [ R O[ ORA[ |
BAEED1—) 0] 0.1] 0.1] 0.8] 1.7] 1.1] 0.1] 0.6] 0] 0] 1.8] 20.8] 18.1] 20.1] 0.2] 34.5] 0]




iRl s BHKEREBRNTXIBEL Y — (RHETAH)
2024401 A 148
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h h J MJ hPa % % %
1:00[ LA 1.6{7ILFE 35|F 2.1 2.5 2.8 2 -5.6 55.4 0 0 0 0 0 0] 1029.2 58.4 55.2 62.7
2:00[JLFE 1.2|f LA 3.2|A 2 14 2.5 1.4 —5.4 60.8 0 0 0 0 0 0] 1028.9 60.8 55.3 62.7
3:00 [ £E & NES 1.5]Jcd 1.2 0.8 1.4 0.8 5.1 72.9 0 0 0 0 0 0| 10286 74.2 60.8 62.9
400 0.8[&| [EIEE& 1.3 -1.2 -0.1 -1.5 -5.3 73.9 0 0 0 0 0 0] 10284 78.6 71.1 63.1
5:00 | ZE & 02|EJLE 14| 0.8 -1.5 -0.8 -1.9 -4.6 79.7 0 0 0 0 0 0] 1029.1 81 739 63.3
6:00(dt 08[dtE 1.8[& 0.9 1.7 1.1 2.2 -4 80.2 0 0 0 0 0 0] 10295 82.3 776 63.5
7:00 [ & [ E[EAi] 1.2[dbdt 7 1.1 -2.6 -1.7 -2.8 5.1 83.2 0 0 0 0 0 0] 1029.9 84.1 79.7 63.8
8:00 [ £EJA N N 0 -1.9 -1.9 -3.1 -4 86 0 0 0.1 0.1 0.09 0.09 1030 86.7 83.2 64.1
9:00[ = NEES 1.3[ER 0.2 1.4 1.4 -1.9 -3.3 71 0 0 1 1.1 0.82 091 1029.7 86 70.8 64.2
10:00| FE /& 0.1 |FARER 1.9|FER 0.5 45 48 1.4 -3.1 58 0 0 1 2.1 1.39 23] 10292 i 57.9 64.1
11:00(Fg 0.3|FEFE AT 0.7 7.3 75 42 -3 48.1 0 0 1 3.1 1.86 416] 10277 58.3 48.1 63.9
12:00[JtJEFE 1.3[db It 35[dLdEER 1.4 8.3 8.3 6.8 -33 44 0 0 1 4.1 2.13 6.29] 1026.2 48.1 432 63.6
13:00[dL PEEET 42|t E 25 9.1 9.4 8 -2.9 43 0 0 1 5.1 2.13 8.43] 1025.6 44 415 63.3
14:00[FJLE 28[FEILE 54|FILE 2.9 9.7 9.9 8.7 -1 473 0 0 1 6.1 19 10.33]  1024.6 473 43 63.1
15:00|F/ILEH PJES 58| 35 9.8 10 9.4 0.8 53.7 0 0 1 7.1 1.47 11.8] 10243 53.7 47.3 63
16:00[FJLE 22|FILE 54[dLE 3 9 9.9 9 1.2 58.4 0 0 1 8.1 0.88 12.68]  1023.7 58.6 53.7 62.9
17:00| & O[FIE 35|HIE 22 6.2 9.2 6.2 1.5 72 0 0 0.5 8.6 0.22 12.89] 102338 72 58.4 63
18:00[ & & 0.1]7 1.4|FFRI 0.5 47 6.2 4.6 1.6 80.4 0 0 0 8.6 0 12.89]  1023.6 80.4 72 63.3
19:00[ZE & o|FEEma 0.8|ER 0.2 3.2 47 3.2 0.3 81.7 0 0 0 8.6 0 12.89]  1023.6 83.4 80.4 63.6
20:00| & NEETE 0.1|&ER 0 2.5 3.8 2.5 0 83.8 0 0 0 8.6 0 12.89] 10234 85.9 81.4 63.9
21:00| R 0|7 09| ER 0.1 26 2.9 2 0.7 87.4 0 0 0 8.6 0 12.89 1023 88 83.8 64.2
22:00| & 0.7|7% 2.2|FAF P 1 1.7 2.7 1.3 -0.4 86.5 0 0 0 8.6 0 12.89]  1022.3 89.3 85.7 64.5
23:00| R 0.1]3t 1.6|FaFIPE 0.7 1.9 2.6 1.3 -0.6 83.8 0 0 0 8.6 0 12.89]  1022.2 88.8 82.2 64.8
24:00:00[3t 0.7[4t 1.6k 0.7 1.1 2.1 0.8 -1 86.4 0 0 0 8.6 0 12.89]  1020.9 88.3 83.8 65.1
[EPIRE]
15 B ] | S 14 IR | socmmesmm | BABERIAE | AT ean R = RURE | ExRE W=E (HEAE AR |BEBSH| BH |[BHKE EHiRE
m/s m/s °C °C % mm h h MJ MJ hPa %
Fy 0.7 3.2 2.2 69.9 1026.1 63.6
xE EEA 35|®& 5.8|& 10 2.1 89.3 1030.1 65.1
HCHF 14:08 14:20 14:58 17:42 21:38 8:09 0:00
=& -3.1 -6 4.5 1020.8 62.6
EE# 7:25 2:05 12:33 23:58 1:48
0 8.6 8.6 12.89 12.89
J'Lr‘ifé (%)
[JedtsR | b3 [ R | 3 | REssR | mAk | pAmmce | @5 | pApsPd | @aPd | gapmed | pa | gadLed | 1I:E [ dedtd® [ 4t | R [ XA |
BAEES 1| 2.3 5.2] 135] 5.7] 2.7 1.9] 2.2] 15] 0. 0.8] 0.6] 2.3 5.1] 3.3 15] 1.3] 49.3] 0]




Bl BHKEREBRNTXIBEL Y — (RHETAH)
20244018158
EES
EHRE | YRR sxmmean| BXEMAE sxronan BxTuaE| 5B |ReESE|RESJEB|EARE(AMEE|BESRE| WE (HEAE| BE (BEBS B |BMKE|sxeswssoesses| BEEE
m/s m/s m/s °C °C °C °C % mm mm h MJ MJ hPa % % %
1:00|FmR R 0.4]3t 3|4t 1.9 1.7 1.9 0.9 -0.4 86.4 0 0 0 0 0 0| 101938 87.6 83.6 65.4
2:00{dbJLE 054t it 24| 1.2 26 2.6 1.4 0.3 84.9 0 0 0 0 0 0] 10193 86.4 83.3 65.7
3:00 £ & o|FaFa e 1.6|FREIR 0.6 27 2.9 23 0.7 87 0 0 0 0 0 0 1018 87.1 84.6 66
400 £, N N 0 3.1 3.2 26 1.1 87.1 0 0 0 0 0 0] 1016.9 87.3 85.4 66.3
5:00|FE 7 1.3|FEf 2.3|Fr 1.3 4.1 41 3.1 2.3 88 0 0 0 0 0 0| 10176 88 85.2 66.6
6:00 | FIFI P 2.3|FFPE 3.8|mmPE 28 6 6 41 42 88.5 0.5 0.5 0 0 0 0] 10182 92.9 88 66.9
7:00|F 4L 76 1.5|7aFIPE 3.7\ 2.3 5.9 6.6 5.9 48 93.1 05 1 0 0 0 0] 1019.1 93.1 88.5 67.3
8:00(7H 1.2[td 3[@EILA 1.5 6.8 6.8 5.7 6.1 95.2 1 2 0 0 0 0] 10205 95.3 93.1 67.7
9:00 | £& & 0|FEItLFE 3|FAEILEE 1.4 6.8 71 6.7 5.9 94.3 1 3 0 0 0 0] 10216 95.2 91.3 68.1
10:00] 78 25|73t A 42|F 2.5 6.8 7 6.7 5.1 89.3 0.5 35 0 0 0.06 0.06 1022 945 89.3 68.4
11:00| 78 3.4|FA 5.6|78 34 6.8 6.9 6.7 44 84.6 0 35 0 0 0.14 02| 1021.7 89.3 84.6 68.6
12:00[ 7L FE 2.8|F 517 35 74 74 6.8 42 80.1 0 35 0 0 0.26 0.46]  1020.9 84.6 79.4 68.8
13:00[Jt 78 27[3tF 5L 2.9 8.2 8.2 73 35 72.1 0 35 0 0 0.38 0.83]  1020.7 815 715 68.8
14:.00[ L7 3.4[1LE 7|3L 3.8 8.7 9.1 8.1 1.7 61.4 0 35 0.1 0.1 0.77 1.6] 10206 72.1 60.9 68.7
15:00[dL b7 2.8[dtdtA 7.3[dtdt A 4 8.5 8.9 8.5 0.6 57.5 0 35 0 0.1 0.52 212] 102038 61.8 57.3 68.5
16:00[Jt 32[dtitA 6.9[dtIt A 3.8 7.9 8.6 7.9 -0.3 56.1 0 35 0 0.1 0.34 247 10214 58.5 54.3 68.3
17:00[JLEFE 2.6/t 6/Jt 34 7.5 8 7.5 0.2 59.9 0 35 0 0.1 0.08 254 10224 60.1 55.9 68.2
18:00[JLIEFE 351t REEAE] 35 6.8 7.6 6.8 -2 53.4 0 35 0 0.1 0 254 1023.1 59.9 53.3 68
19:00[Jt 78 32[dtF 76[dtItFE 41 6.1 6.9 6 -24 547 0 35 0 0.1 0 254 10237 55 525 67.8
20:00([JL 78 PRI EIA:] 8.2|dttd 4.1 5.9 6.4 5.8 -2.1 56.4 0 35 0 0.1 0 254 10247 56.6 52.8 67.6
21:00[Jt 78 3.1[dtA 8[JtF 3.6 5.3 6 5.3 -38 52 0 35 0 0.1 0 254 10252 56.4 51 67.4
22:00|FadL T 193t 54|t 3.1 43 5.3 43 -3 59.1 0 35 0 0.1 0 2.54]  1025.1 59.1 52 67.3
23:00[Jb 3L 15|JtF 35|FAItA 1.9 4.1 4.4 4 -2.1 64.1 0 35 0 0.1 0 2.54]  1025.1 64.1 59.1 67.3
24:00:00 [ FH L7 247 4.1|#EILEE 2.4 5 5 4.1 -2.1 60.1 0 35 0 0.1 0 